VCM.

my bath

service@vcm-gruppe.de

Aufbauanleitung

Artikel: | VCM Waschbeckenkonsole Bitila 80 cm

Service Ref.:#092

200 M 46‘0
M

850 mm

§=—0
4

06.2023




-02-




7

1 x PIECE
1 x PIECE

1x PIECE

1 x PIECE

Hardware / Quincaillerie
Assembly instructions / Notice de montage

©@

Stuckliste

760x300x18 mm

3 4 5 6
J L7722
2PCS 1PC 1PC 1PC 1PC 2PCS
418x164x18 mm 830x460x20 mm 830x460x20 mm | 718x164x18 mm 760x205x20 mm 760x40x20 mm
7
1PC

-03 -




HARDWARE

C D
M6 x 15 M6 x 30
4PCS 4PCS 4PCS

1 2
\HH\HH\HH‘HH\HM\HH\“H\HH

P .
Lol in

HH‘HHH\H‘\H\‘%H‘HH‘:\SH\‘HH“\1\\\‘\\\\‘\5\\\‘\\\\“\3\\\

7 8 9
HH‘HH‘\H\‘HH‘HH‘ cm

Ax14 | s 4.2x16

4.2x32

M6 x 15

M6 x 30

-04 -




Schritt 1

2PCS

4PCS

Schritt 2

- 05 -




Schritt 3

2PCS

Schritt 4

4PCS

- 06 -




Schritt 5 E
¥

Schritt 6

-07 -




Schritt 7

2PCS

D ——=

Schritt 8

4PCS

-08 -




Schritt 9

Schritt 10

| =

| W
|

-09 -




7|







